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Date of Test 17-11-2023

Question1:-Cost of goods sold is reported on the :
വി� സാധന��െട വില റിേ�ാർ�് െച��ത്
        A:-Cash flow statement
ക�ാഷ് േ�ാ േ��്െമ�ിൽ
        B:-Profit and loss statement
ലാഭ ന� േ��്െമ�ിൽ
        C:-Balance sheet
ബാലൻസ് ഷീ�ിൽ
        D:-Trading Account
േ�ഡിംഗ് അെ�ൗ�ിൽ
        Correct Answer:- Option-D
Question2:-The _____________ reports activity over a period of time.
_________  നി�ിത കാലയളവിൽ �വർ�നം റിേ�ാർ�്  െച��.
        A:-Income Statement
വ�മാന േ��്െമ�്
        B:-Balance Sheet
ബാലൻസ് ഷീ�്
        C:-Audit
ഓഡി�്
        D:-Cash Flow Statement
ക�ാഷ് േ�ാ േ��്െമ�്
        Correct Answer:- Option-A
Question3:-Sales day book is best described as :
വിൽ�ന ദിന ��കം ഏ��ം ന�ായി വിവരി�ിരി��ത്

        A:-A list of customers account
ഉപേഭാ� അെ�ൗ�ക�െട ഒ�  ലി�്
        B:-A list containing real accounts
യഥാർ� അെ�ൗ�കൾ അട�� ലി�്
        C:-A list of credit sales
�ഡി�് വിൽ�ന�െട ലി�്
        D:-None of the above
േമൽ�റ�വെയാ�മ�
        Correct Answer:- Option-C
Question4:-In which order does the journal list transactions?
ഏത് �മ�ിലാണ് േജർണൽ ഇടപാ�കൾ ലി�് െച��ത്?
        A:-Alphabetical
ആൽഫെബ�ി�ൽ
        B:-Chronological
െ�ാേണാളജി�ൽ
        C:-Increasing
���
        D:-Decreasing
�റ��
        Correct Answer:- Option-B
Question5:-The process of entering all transactions from the journal to ledger is called :
േജണലിൽ നി�് ലഡ്ജറിേല�് എ�ാ ഇടപാ�ക�ം  നൽ�� ��ിയെയ  വിളി��ത്
        A:-Posting
േപാ�ി�്
        B:-Entry
എൻ�ി
        C:-Accounting
അെ�ൗ�ി�്
        D:-None of the above
േമൽ�റ�വെയാ�മ�
        Correct Answer:- Option-A
Question6:-What is the main purpose of Bank Reconciliation?
ബാ�് റീകൺസീലിേയഷെൻറ �ധാന ല��ം എ�ാണ്?
        A:-To locate cashier's mistake
കാഷിയ�െട െത�് കെ��ാൻ
        B:-Reconciliation of the cash book and bank balances
ക�ാഷ് ��ിെൻറ�ം ബാ�് ബാലൻസിെൻറ�ം റീകൺസീലിേയഷൻ
        C:-To find out bank balances
ബാ�് ബാലൻസ് കെ��ാൻ
        D:-To find out cash balances
ക�ാഷ് ബാലൻസ് കെ��ാൻ
        Correct Answer:- Option-B
Question7:-The following is a statement showing the financial status of the company at any given time :
ഏ� സമയ�ം ക�നി�െട സാ��ിക�ിതി കാണി�� ഒ� ��ാവനയാണ് ഇനി�റ��ത്
        A:-Trading account
േ�ഡിംഗ് അെ�ൗ�്
        B:-Profit and Loss statements
ലാഭ ന� േ��്െമ�്
        C:-Balance sheet
ബാലൻസ്ഷീ�്
        D:-Cash book
ക�ാഷ് ��്
        Correct Answer:- Option-C
Question8:-Which is the most important characteristic that all assets of a business have?
ഒ� ബിസിന�ിെൻറ എ�ാ ആ�ിക�ം ഉ� ഏ��ം �ധാനെ�� സ�ഭാവം ഏതാണ്?
        A:-Long life of assets
ആ�ിക�െട േലാ�് ൈലഫ്
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        B:-Value of assets
ആ�ി�െട �ല�ം
        C:-Intangible nature of assets
ആ�ിക�െട അ�ശ� സ�ഭാവം
        D:-Future economic benefits
ഭാവിയിെല സാ��ിക േന��ൾ
        Correct Answer:- Option-D
Question9:-Long term capital loss can be set off from which of the following?
ദീർഘകാല �ലധന ന�ം  ഇനി�റ��വയിൽ  ഏതിൽ നി�് നിക�ാനാ�ം?
        A:-Short term capital gain only
�സ�കാല �ലധന േന�ം മാ�ം
        B:-Long term capital gain only
ദീർഘകാല �ലധന േന�ം മാ�ം
        C:-Income from business or profession
ബി�ിന�ിൽ നിേ�ാ െതാഴിലിൽ നിേ�ാ  ഉ� വ�മാനം
        D:-Income from salary
ശ�ള�ിൽ നി�� വ�മാനം
        Correct Answer:- Option-B
Question10:-In Journal, the business transaction is recorded
േജർ�ലിൽ ബി�ിന�് ഇടപാട് േരഖെ���ിയി��ത്
        A:-Once in a month
മാസ�ിെലാരി�ൽ
        B:-Next day
പിേ� ദിവസം
        C:-Once in a week
ആ�യിെലാരി�ൽ
        D:-Same day
അേത ദിവസം
        Correct Answer:- Option-D
Question11:-The cost of Air-Conditioning of the Manager's office will be.
മാേനജ�െട ആഫീസിെല എയർ ക�ീഷനിംഗ് െചലവ് ________ ആയിരി�ം.
        A:-A capital expenditure
ഒ� �ലധന െചലവ്
        B:-A revenue expenditure
ഒ� റവന� െചലവ്
        C:-A deferred revenue expenditure
മാ�ിവ� റവന� െചലവ്
        D:-None of these
ഇവെയാ�മ�
        Correct Answer:- Option-A
Question12:-The measure of how efficiently the assets resources are employed by the firm is called
ആ�ികൾ എ�േ�ാളം കാര��മമായി �ാപനം ഉപേയാഗെ���� എ�തിെൻറ അള�േകാല്  അറിയെ���ത്
        A:-Liquidity ratio
ലിക�ിഡി�ി േറേഷ�ാ
        B:-Leverage ratios
ലിവേറജ് േറേഷ�ാ
        C:-Activity ratios
ആ�ിവി�ി േറേഷ�ാ
        D:-Profitability ratios
േ�ാബബിലി�ി േറേഷ�ാ
        Correct Answer:- Option-C
Question13:-Balance sheet is prepared
ബാലൻസ് ഷീ�് ത�ാറാ��ത്
        A:-Daily
ദിവസ�ം
        B:-Weekly
ആ�യിൽ
        C:-Monthly
മാസ�ിൽ
        D:-Annually
വർഷ�ിൽ
        Correct Answer:- Option-D
Question14:-Unpresented cheques also referred as
അൺ�സ�ഡ് െച�് ________ എ�ം പരാമർശി�െ���.
        A:-Outstanding Cheques
ഔ�്�ാൻഡിംഗ് െച�്
        B:-Uncollected Cheques
േശഖരി�ാ� െച�കൾ
        C:-Bounced Cheques
െബൗൺസായ െച�കൾ
        D:-Uncredited Cheques
അംഗീകാരമി�ാ� െച�കൾ
        Correct Answer:- Option-A
Question15:-An entry which is made on both sides of a cash book is called :
ഒ� ക�ാഷ് ��ിെൻറ ഇ�വശ�ം ഉ� എൻ�ിെയ �ചി�ി��ത്
        A:-Cash entry
ക�ാഷ് എൻ�ി
        B:-Contra entry
േകാൺ�ാ എൻ�ി
        C:-Payment entry
േപെ��് എൻ�ി
        D:-Compound entry
േകാെ�ൗ�് എൻ�ി
        Correct Answer:- Option-B
Question16:-Double entry implies that :
ഡബിൾ എൻ�ി �ചി�ി��ത്
        A:-Recording entries in Journal
േജർണലിൽ എൻ�ികൾ േരഖെ����
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        B:-Recording entries in Ledger account
ലഡ്ജർ അെ�ൗ�ിൽ എൻ�ികൾ േരഖെ����
        C:-Recording two aspects of every transaction
ഓേരാ ഇടപാടിെൻറ�ം ര� വശ�ൾ േരഖെ����
        D:-Recording every transaction in books
എ�ാ ഇടപാ�ക�ം ��ക�ളിൽ േരഖെ����

        Correct Answer:- Option-C
Question17:-Auditing refers to :
ഓഡി�് �ചി�ി��ത്
        A:-Reporting the financial information
സാ��ിക വിവര�ൾ റിേ�ാർ� െച��
        B:-Examination of financial information
സാ��ിക വിവര�ൾ പരിേശാധി��
        C:-Preparation of financial statements
സാ��ിക ��ാവനകൾ ത�ാറാ�ൽ
        D:-Maintaining the ledger accounts
െലഡ്ജർ അെ�ൗ�കൾ പരിപാലി��
        Correct Answer:- Option-B
Question18:-Earnings are the result of the difference between
____________ ത�ി�� വ�ത�ാസ�ിെൻറ ഫലമാണ് വ�മാനം
        A:-Revenue and assets
റവന� ആൻഡ് അ��്സ്
        B:-Revenue and liabilities
റവന� ആൻഡ് ലയബിലി�ീസ്
        C:-Liabilities and expenses
ലയബിലി�ീസ് ആൻഡ് എ�്െപൻസസ്
        D:-Revenue and expenses
റവന� ആൻഡ് എ�്െപൻസസ്
        Correct Answer:- Option-D
Question19:-The following is also known as External Internal Equity ratio
താെഴ�റ��വെയ ബാഹ�ആ�രിക ഇക�ി�ി അ�പാതം എ�ം അറിയെ���
        A:-Current ratio
കറ�് േറേഷ�ാ
        B:-Acid test ratio
ആസിഡ് െട�് േറേഷ�ാ
        C:-Debt Equity ratio
െഡ�് ഇക�ി�ി േറേഷ�ാ
        D:-Debt service coverage ratio
െഡ�് സർ�ീസ് കവേറജ് േറേഷ�ാ
        Correct Answer:- Option-C
Question20:-A cash discount is best described as a reduction in the sum to be paid :
അടേ�� �കയിെല �റവായി ക�ാഷ് ഡിെ�ൗ�് മിക� രീതിയിൽ വിവരി�ിരി��
        A:-If payment is made within a previously agreed period
�� സ�തി� കാലയളവി��ിൽ  പണമട�ാൽ
        B:-If payment is made either by cash or cheque
പണം അെ��ിൽ െച�് വഴിയാണ് പണം അട�തെ��ിൽ
        C:-If purchases are made for cash, not on credit
വാ��കൾ പണ�ിനാണ് നട��െത�ിൽ, െ�ഡി�ില�
        D:-If payment is made by cash, not cheque
പണമായാണ് പണമട�െത�ിൽ, െച�ായ�
        Correct Answer:- Option-A
Question21:-The sales income of a business during a given period is called
ഒ� നി�ിത കാലയളവിൽ ഒ� ബിസിന�ിെൻറ വിൽ�ന വ�മാനെ� വിളി��ത്
        A:-Transactions
�ാൻസാ�ൻ
        B:-Sales returns
െസയിൽസ് റിേ�ൺസ്
        C:-Turnover
േടൺഓവർ
        D:-Purchase returns
പർേ�സ് റിേ�ൺസ്
        Correct Answer:- Option-C
Question22:-The credit entry for net profit is on the credit side of :
അ�ാദായ�ി�� െ�ഡി�് എൻ�ി താെഴ�റ��തിെൻറ �ഡി�് വശ�ാണ്
        A:-The capital account
�ലധന അെ�ൗ�്
        B:-The drawing account
േ�ായി�് അെ�ൗ�്
        C:-The trading account
േ�ഡിംഗ് അെ�ൗ�്
        D:-Profit and loss account
ലാഭ ന� അെ�ൗ�്
        Correct Answer:- Option-A
Question23:-Any written evidence in support of a business transaction is called
ഒ� ബിസിന�് ഇടപാടിെന പി�ണ�� ഏെത�ി�ം േരഖാ�ല�� െതളി�കൾ വിളി�െ���ത്
        A:-Journal
േജർണൽ
        B:-Ledger
െലഡ്ജർ
        C:-Ledger posting
െലഡ്ജർ േപാ�ിംഗ്
        D:-Voucher
െവൗ�ർ
        Correct Answer:- Option-D
Question24:-Liabilities payable in more than a year and are not be liquidated from current assets called :
ഒ� വർഷ�ിേലെറയായി അടേ�� ബാധ�തകൾ, നിലവി�� ആ�ികളിൽ നി�് ലിക�ിേഡ�് െച�െ�ടാ�വ
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        A:-Current liabilities
കറ�് ലയബിലി�ീസ്
        B:-Fixed liabilities
ഫി�ഡ് ലയബിലി�ീസ്
        C:-Contingent liabilities
േകാൺടീജ�് ലയബിലി�ീസ്
        D:-All of the above
േമൽ�റ�വെയ�ാം
        Correct Answer:- Option-B
Question25:-Given figures showing : Sales Rs. 8,200/-; Opening stock Rs. 1,300/-; Closing stock Rs. 900/-; Purchases Rs. 6,400/-; Carriage inwards
Rs. 200; the cost of goods sold is?
കാണി�� കണ�കൾ : വിൽ�ന �. 8,200/-; ഓ�ണിംഗ് േ�ാ�് �. 1,300/-;
േ�ാസിംഗ് േ�ാ�് 900/-; വാ��കൾ �. 6,400/-;  കാേരജ് ഇൻവാഡ്സ് �. 200;
വി� സാധന��െട വില?
        A:-Rs. 7,000/-
7,000 �പ
        B:-Rs. 6,200/-
6,200 �പ
        C:-Rs. 6,800/-
6,800 �പ
        D:-None of the above
ഇവെയാ�മ�
        Correct Answer:- Option-A
Question26:-In the absence of any agreement partners are liable to receive interest on their loans@
ഏെത�ി�ം കരാറിെൻറ അഭാവ�ിൽ പ�ാളികൾ അവ�െട വാ�ക�െട ___________  പലിശ നിര�ിൽ സ�ീകരി�ാൻ ബാധ��രാണ്.
        A:-12%
12%
        B:-10%
10%
        C:-6%
6%
        D:-8%
8%
        Correct Answer:- Option-C
Question27:-Which financial statement is used to show what the firm owns?
�ാപന�ിെൻറ ഉടമ�ാവകാശം കാണി�ാൻ ഏത് സാ��ിക ��ാവനയാണ് ഉപേയാഗി��ത്?
        A:-Income statement
വ�മാന േ��്െമ�്
        B:-Balance sheet
ബാലൻസ് ഷീ�്
        C:-Statement of retained earnings
നിലനിർ�ിയ വ�മാന�ിെൻറ േ��്െമ�്
        D:-Cash flow statement
ക�ാഷ് േ�ാ േ��്െമ�്
        Correct Answer:- Option-B
Question28:-Which of the following is a financial asset?
താെഴ�റ��വയിൽ ഏതാണ് ൈഫനാൻഷ�ൽ അസ�്?
        A:-Inventories
ഇൻെവ�റികൾ
        B:-Equipment
ഉപകരണ�ൾ

        C:-Loan to an associate
ഒ� അേസാസിേയ�ിന് േലാൺ
        D:-Accounts receivable
അെ�ൗ�്സ് റിസീവബിൾ
        Correct Answer:- Option-D
Question29:-According to accounting equation assets are equal to?
അെ�ൗ�ിംഗ് സമവാക�ം അ�സരി� ് ആ�ികൾ �ല�മാേണാ?
        A:-Liabilities
ബാധ�തകൾ
        B:-Liabilities and equities
ബാധ�തക�ം ഓഹരിക�ം
        C:-Equities
ഓഹരികൾ
        D:-None of these
ഇവെയാ�മ�
        Correct Answer:- Option-B
Question30:-Which financial statement uses the expanded accounting equation?
ഏത് സാ��ിക ��ാവനയാണ് വി�ലീകരി� അെ�ൗ�ിംഗ് സമവാക�ം ഉപേയാഗി��ത്?
        A:-Income Statement
വ�മാന േ��്െമ�്
        B:-Cash Flow Statement
ക�ാഷ് േ�ാ േ��്െമ�്
        C:-Statement of Stockholder's Equity
ഓഹരി ഉടമ�െട ഇക��ി�െട േ��്െമ�്
        D:-Balance Sheet
ബാലൻസ് ഷീ�്
        Correct Answer:- Option-D
Question31:-The debts, which are to be repaid within a short period (year or less) are known as
ഒ� െചറിയ കാലയളവി��ിൽ (വർഷേമാ അതിൽ �റേവാ) തിരി�ടേ�� കട�ൾ അറിയെ���ത്
        A:-Current liabilities
കറ�് ലയബിലി�ീസ്
        B:-Fixed liabilities
ഫി�ഡ് ലയബിലി�ീസ്
        C:-Contingent liabilities
േകാൺടീജ�് ലയബിലി�ീസ്
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        D:-All of the above
േമൽ�റ�വെയ�ാം
        Correct Answer:- Option-A
Question32:-What is the main purpose of financial accounting?
ൈഫനാൻഷ�ൽ അെ�ൗ�ിംഗിെൻറ �ധാന  ല��ം  എ�ാണ്?
        A:-Organize Financial Information
സാ��ിക വിവര�ൾ സംഘടി�ി�ക
        B:-Minimize Company Taxes
ക�നി നി�തികൾ �റ�ക
        C:-Provide useful Financial Information to outsiders
�റ��വർ�് ഉപകാര�ദമായ സാ��ിക വിവര�ൾ നൽ�ക
        D:-Keep track of company expenses
ക�നി െചല�ക�െട �ാ�് ��ി�ക
        Correct Answer:- Option-C
Question33:-Accounting provides information on
__________ സംബ�ി� വിവര�ൾ അെ�ൗ�ിംഗ് നൽ��.
        A:-Cost and income for managers
മാേനജർമാർ�� െചല�ം വ�മാന�ം
        B:-Company's tax liability for a particular year
ഒ� �േത�ക വർഷേ��� ക�ിനി�െട നി�തി ബാധ�ത
        C:-Financial conditions of an institution
ഒ��ാപന�ിെൻറ സാ��ിക വ�വ�കൾ
        D:-All of the above
േമൽ�റ�വെയ�ാം
        Correct Answer:- Option-D
Question34:-Net loss occurs when
അ� ന�ം സംഭവി��ത്
        A:-Expenses are greater than income
വ�മാനേ��ാൾ െചലവ് ��തൽ
        B:-Expenses are less than income
വ�മാനേ��ാൾ െചലവ് �റവ്
        C:-Expenses = Income
െചലവ് = വ�മാനം
        D:-Liabilities are greater than income
ബാധ�തകൾ വ�മാനേ��ാൾ വ�താണ്
        Correct Answer:- Option-A
Question35:-Liabilities are which of the following?
ബാധ�തകൾ താെഴ�റ��വയിൽ ഏതാണ്?
        A:-Resources
വിഭാഗ�ൾ
        B:-Obligations
ഒ�ിേഗഷൻസ്
        C:-Future benefits
ഭാവിയിെല േന��ൾ
        D:-Expenses
െചലവ്
        Correct Answer:- Option-B
Question36:-Carriage inwards is charged to the trading account because :
ക�ാേരജ് ഇൻവാഡ്സ് േ�ഡിംഗ് അെ�ൗ�ിേല�് ചാർ�െച�� കാരണം
        A:-It is not part of motor expenses
േമാേ�ാർ െചല�ക�െട ഭാഗമ�ാ�തിനാൽ
        B:-Arrange outwards goes in the profit and loss account
ലാഭന� അെ�ൗ�ിേല�് �റേ��് �മീകരി�ക
        C:-It is an expense connected with buying goods
സാധന�ൾ വാ���മായി ബ�െ�� െചലവാണിത്
        D:-It should not go in the balance sheet
അത് ബാലൻസ് ഷീ�ിൽ േപാക�ത്
        Correct Answer:- Option-C
Question37:-Capital of a business decreases if there is an increase in :
ഒ� ബിസിന�ിെൻറ �ലധനം വർ�ി�ാൽ _________ �റ�ം.
        A:-Drawings
േ�ായിം�കൾ
        B:-Income
വ�മാനം
        C:-Gains
േന��ൾ
        D:-Fresh capital
�തിയ �ലധനം
        Correct Answer:- Option-A
Question38:-Which of the following accounting equation is correct?
താെഴ ത� ഏത് അെ�ൗ�ിംഗ് സമവാക�മാണ്  ശരി?
        A:-Cash + Other assets  = Capital - Liabilties
ക�ാഷ് + മ� ആ�ികൾ = �ലധനം - ബാധ�തകൾ
        B:-Capital + Liabilities = Assets + Income
�ലധനം + ബാധ�തകൾ = ആ�ികൾ + വ�മാനം
        C:-Assets - Liabilities = Capital
ആ�ികൾ - ബാധ�തകൾ = �ലധനം
        D:-Assets + Capital = Liabilities
ആ�ികൾ + �ലധനം = ബാധ�തകൾ
        Correct Answer:- Option-C
Question39:-The characteristics of a budget :
ഒ� ബഡ്ജ�ിെൻറ സവിേശഷതകൾ
        A:-It outlines projected activities
ഇത് െ�ാജ�് െച� �വർ�ന��െട �പേരഖ നൽ��
        B:-Expressions are made in quantitative terms
പദ�േയാഗ�ൾ അളവ് പദ�ളിലാണ് നിർ�ി�ിരി��ത്
        C:-It is for a fixed period
ഇത് ഒ� നി�ിത കാലയളവിേല�ാണ്
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        D:-All of the above
േമൽ�റ�വെയാ�മ�
        Correct Answer:- Option-D
Question40:-Which of these bests describes fixed assets?
ഇവയിൽ ഏതാണ് �ിര ആ�ികൾ വിവരി��ത്?
        A:-Which are bought to be used in the business
ബിസിന�ിൽ ഉപേയാഗി�ാനായി വാ�ിയവ
        B:-Which are of long life and are not bought specifically for resale
േലാംഗ് ൈല�ം �നർവി�ന�ായി �േത�കം വാ�ാ�വ�മാണ്
        C:-Which are expensive items bought for the business
ബിസിന�ിനായി വാ�ിയ വില�ടിയ വ��ൾ
        D:-Which are items will not wear out quickly
ഇത് െപ��് തീർ�േപാകാ�ത്
        Correct Answer:- Option-B
Question41:-The Four principle qualitative characteristics of useful financial statements are :
ഉപേയാഗ�ദമായ സാ��ിക ��ാവനക�െട നാല് തത� �ണപരമായ സവിേശഷതകൾ ഇവയാണ്
        A:-Understandability, relevance, reliability, simplicity
മന�ിലാ�ൽ, �സ�ി, വിശ�ാസ�ത, ലാളിത�ം
        B:-Timeliness, relevance, reliability, comparability
സമയബ�ിതത, �സ�ി, വിശ�ാസ�ത, താരതമ�ത
        C:-Understandability, relevance, accuracy, comparability
മന�ിലാ�ൽ, �സ�ി, �ത�ത, താരതമ�ത
        D:-Understandability, relevance, reliability, comparability
മന�ിലാ�ൽ, �സ�ി, വിശ�ാസ�ത, താരതമ�ത
        Correct Answer:- Option-D
Question42:-The assets that can be converted into cash within a short period (i.e. one year or less) are known as
���ിയ കാലയളവി��ിൽ (അതായത് ഒ� വർഷേമാ അതിൽ �റേവാ) പണമാ�ി മാ�ാൻ കഴി�� ആ�ികൾ അറിയെ���ത്
        A:-Current assets
കറ�് അസ�്സ്
        B:-Fixed assets
ഫി�ഡ് അസ�്സ്
        C:-Intangible assets
ഇൻടാൻജിബിൾ അസ�്സ്
        D:-Investments
നിേ�പ�ൾ
        Correct Answer:- Option-A
Question43:-A minimum quantity of stock always held as precaution against out of stock situation is called :
േ�ാ�ിന് �റ�� സാഹചര��ിെനതിരായ �ൻക�തൽ എ� നിലയിൽ എ�ായ്േ�ാ�ം ��ി�ിരി�� േ�ാ�ിെൻറ എ��ം �റ�അളവിെന വിളി��ത്
        A:-Zero stock
സീേറാ  േ�ാ�്
        B:-Risk stock
റി�് േ�ാ�്
        C:-Base stock
േബസ് േ�ാ�്
        D:-None of the above
േമൽ�റ�വെയാ�മ�
        Correct Answer:- Option-C
Question44:-A loan can be described as a short-term loan if the period is
കാലാവധി _______  ആെണ�ിൽ ഒ� േലാണിെന �സ�കാല വാ� എ�് വിേശഷി�ി�ാം.
        A:-Three years
��് വർഷം
        B:-Less than one year
ഒ� വർഷ�ിൽ താെഴ
        C:-Over one year
ഒ� വർഷ�ിലധികം
        D:-More than two years
ര�് വർഷ�ിലധികം
        Correct Answer:- Option-B
Question45:-Cash books records :
ക�ാഷ് ��് െറേ�ാ�കൾ

        A:-Cash payments and cash receipts
പണമയട്��ം പണരസീതിക�ം
        B:-Purchases and sales
പർേ��ം െസയിൽ�ം
        C:-Cash payments
ക�ാഷ് േപെ��്
        D:-Cash receipts
ക�ാഷ് രസീ�കൾ
        Correct Answer:- Option-A
Question46:-The left side of on account is known as __________ and right side as _________
അെ�ൗ�ിെൻറ ഇട�വശം __________എ�ം വല�വശം ___________ എ�ം അറിയെ���
        A:-Credit, Debit
െ�ഡി�്, െഡബി�്
        B:-Debit, Credit
െഡബി�്, �ഡി�്
        C:-Liability, Asset
ലയബിലി�ി, അസ�്
        D:-None of the above
േമൽ�റ�വെയാ�മ�
        Correct Answer:- Option-B
Question47:-Petty cash fund is supposed to be replenished
െപ�ിക�ാഷ് ഫ�് നിക�ണം
        A:-At the end of every quarter
ഓേരാ �� മാസ�ിെൻറ അവസാന�ി�ം
        B:-At the end of every month
ഓേരാ മാസ�ിെൻറ അവസാനം
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        C:-At the end of every accounting year
എ�ാ അെ�ൗ�ിംഗ് വർഷ�ിെൻറ�ം അവസാനം
        D:-At the end of every year
എ�ാ വർഷ�ം അവസാനം
        Correct Answer:- Option-C
Question48:-If a Trial Balance totals do not agree; the difference must be entered in :
ഒ� �യൽ ബാലൻസ് െമാ��ിൽ േയാജി��ിെ��ിൽ വ�ത�ാസം _________ നൽകണം.
        A:-Capital Account
�ലധന അെ�ൗ�്
        B:-Nominal Account
േനാമിനൽ അെ�ൗ�്
        C:-Profit and Loss Account
ലാഭ ന� അെ�ൗ�്
        D:-Suspense Account
സെ�ൻസ് അെ�ൗ�്
        Correct Answer:- Option-D
Question49:-Financially, shareholders are rewarded by
സാ��ികമായി, ഓഹരി ഉടമകൾ�് �തിഫലം ലഭി��
        A:-Interest
പലിശ
        B:-Profits
ലാഭം
        C:-Dividends
ഡിവിഡ�്
        D:-None of these
ഇവെയാ�മ�
        Correct Answer:- Option-C
Question50:-An alternative name for a sales Journal is :
െസയിൽസ് േജാർണലിെൻറ മെ�ാ� േപര്
        A:-Sales day book
െസയിൽസ് േഡ ��്
        B:-Sales ledger
െസയിൽസ് െലഡ്ജർ
        C:-Sales invoices
െസയിൽസ് ഇൻേവായ്സസ്
        D:-Daily sales
�തിദിന വിൽ�ന

        Correct Answer:- Option-A
Question51:-Identify the correct sequence of accounting process
അെ�ൗ�ിംഗ് ��ിയ�െട ശരിയായ �മം തിരി�റി�ക
        A:-Recording - Communicating - Identifying
െറേ�ാഡിംഗ് - ആശയവിനിമയം - തിരി�റിയൽ
        B:-Communicating - Recording - Identifying
ആശയവിനിമയം -   െറേ�ാഡിംഗ് - തിരി�റിയൽ
        C:-Identifying - Communicating - Recording
തിരി�റിയൽ - ആശയവിനിമയം -   െറേ�ാഡിംഗ്
        D:-Identifying - Recording - Communicating
തിരി�റിയൽ - െറേ�ാഡിംഗ്- ആശയവിനിമയം
        Correct Answer:- Option-D
Question52:-Credit notes issued by us will be entered in our :
ഇഷ� െച� േനാ�കൾ താെഴ�റ��വയിൽ  നൽകെ��ം
        A:-Sales Account
െസയിൽസ് അെ�ൗ�്
        B:-Returns inwards journal
റിേ�ൺ ഇൻവാർഡ്സ് േജർണൽ
        C:-Return outwards journal
റിേ�ൺ ഔ�് വാഡ്സ് േജർണൽ
        D:-Returns inwards account
റിേ�ൺ ഇൻവാർഡ്സ് അെ�ൗ�്
        Correct Answer:- Option-B
Question53:-If the market value of closing inventory is less than its cost price, inventory will be shown at:
േ�ാസിംഗ് ഇൻെവ�റി�െട മാർ��് �ല�ം അതിെൻറ വിലേയ�ാൾ �റവാെണ�ിൽ, ഇൻെവ�റി ഇതിൽ കാണി�ം
        A:-Market value
മാർ��് വാല�
        B:-Fair market value
െഫയർ മാർ��് വാല�
        C:-both
ര�ം
        D:-None
ഒ�മ�
        Correct Answer:- Option-A
Question54:-Given a purchases invoice showing 5 items of Rs. 80/- each, less trade discount of 25% and cash discount of 5%, if paid within the
credit period, your cheque would be made out for :
80 �പ വീത�� 5 ഇന�ൾ കാണി�� പർേ�സ് ഇൻേവായ്സ്, 25% �റ� േ�ഡ് കിഴിവ്, 5% ക�ാഷ് ഡിെ�ൗ�് എ�ിവ �ഡി�് കാലയളവി��ിൽ അട�ാൽ  നി��െട െച�്
_________  �പയായി ലഭി�ം.
        A:-Rs. 260/-
260 �പ
        B:-Rs. 280/-
280 �പ
        C:-Rs. 285/-
285 �പ
        D:-Rs. 400/-
400 �പ
        Correct Answer:- Option-C
Question55:-Which of the following forms of business organization has limited liability to its members?
ബിസിന�് ഓർഗൈനേസഷെൻറ ഇനി�റ�� �പ�ളിൽ ഏതാണ് അതിെൻറ അംഗ�ൾ�് പരിമിതമായ ബാധ�ത��ത്?
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        A:-Partnership
പാർ�്നർഷി�്
        B:-Joint Hindu Family Business
േജായി�് ഹി� ഫാമിലി ബിസിന�്
        C:-Sole proprietorship
േസാൾ െ�ാൈ��ർഷി�്
        D:-Company
ക�നി
        Correct Answer:- Option-D
Question56:-____________ is also called as purchase ledger.
___________ പർേ�സ് െലഡ്ജർ എ�ം അറിയെ���.
        A:-Personal Ledger
വ��ിഗത െലഡ്ജർ
        B:-Creditors Ledger
�ഡിേ��് െലഡ്ജർ
        C:-Debtors Ledger
െഡേ��് െലഡ്ജർ
        D:-Nominal Ledger
േനാമിനൽ െലഡ്ജർ
        Correct Answer:- Option-B
Question57:-Last activities list on the cash flow statement.
പണെമാ��് ��ാവനയിെല അവസാന �വർ�ന��െട ലി�്
        A:-Financing Activities
ഫിനാൻസി�് ആ�ിവി�ീസ്
        B:-Withdrawals
പിൻവലി��കൾ
        C:-Expenditures
െചല�കൾ
        D:-Outstanding Liabilities
ഔ�് �ാൻഡിംഗ്  ലയബിലി�ീസ്
        Correct Answer:- Option-A
Question58:-Debit the receiver and credit the giver is __________ account
സ�ീകർ�ാവിെന െഡബി�് െച�െെകാ���യാൾ�് __________ അെ�ൗ�ാണ് െ�ഡി�്
        A:-Real
റീയൽ
        B:-Personal
വ��ിപരമായി
        C:-Nominal
േനാമിനൽ
        D:-All of the above
�കളിൽ പറ�വെയ�ാം
        Correct Answer:- Option-B
Question59:-When the final accounts are prepared, the Bad Debts Accounts is closed and transferred to the :
അ�ിമ അെ�ൗ�കൾ ത�ാറാ�േ�ാൾ, ബാഡ് െഡ�് അെ�ൗ�കൾ അട� ്_________ അെ�ൗ�ിേല�് മാ��
        A:-Trading Account
േ�ഡിംഗ് അെ�ൗ�്
        B:-Balance Sheet
ബാലൻസ് ഷീ�്
        C:-Profit and Loss Account
ലാഭ ന� അെ�ൗ�്
        D:-Provision for doubtful debts Account
സംശയാ�ദമായ കട�ൾ�� വ�വ�
        Correct Answer:- Option-C
Question60:-The accounting cycle represents a series of steps that a business uses
അെ�ൗ�ിംഗ് ൈസ�ിൾ ഒ� ബിസിന�് ഉപേയാഗി�� ഘ���െട ഒ� പര�രെയ �തിനിധീകരി��
        A:-To record and classify the transactions
ഇടപാ�കൾ േരഖെ���ാ�ം തരംതിരി�ാ�ം
        B:-To summarize the transactions
ഇടപാ�കൾ സം�ഹി�ാൻ
        C:-To communicate financial events
സാ��ിക സംഭവ�ൾ ആശയവിനിമയം നട�ാൻ
        D:-For all of the above
േമൽ�റ�വെയ�ാം
        Correct Answer:- Option-D
Question61:-Which of the following is correct?
താെഴ�റ��വയിൽ ഏതാണ് ശരി?
        A:-Profit reduce capital
ലാഭം �ലധനം �റ��
        B:-Profit increases capital
ലാഭം �ലധനം ���
        C:-Profit does not alter capital
ലാഭം �ലധനെ� മാ��ി�
        D:-Capital can only come from profit
�ലധനം ലാഭ�ിൽ നി�് മാ�േമ ഉ�ാ�
        Correct Answer:- Option-B
Question62:-Which of the following is not a current asset?
കറ�് അസ�്സിൽ ശരിയ�ാ�വ താെഴത�വയിൽ ഏതാണ്?
        A:-Accounts receivable
സ�ീകരി�ാ�� അെ�ൗ�കൾ
        B:-Inventory of finished products
ഇൻെവ�റി ഫിനിഷ്ഡ് െ�ാഡ�്സ്
        C:-Inventory of raw materials
ഇൻെവ�റി ഓഫ് േറാ െമ�ീരിയൽസ്
        D:-Land
�മി
        Correct Answer:- Option-D
Question63:-The long-term assets that have no physical existence but are rights that have value is known as
െഭൗതികമായ അ�ിത�മി�ാ��ം  എ�ാൽ �ല��� അവകാശ����മായ ദീർഘകാല ആ�ികൾ _________ എ�ാണ് അറിയെ���ത്
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        A:-Current assets
കറ�് അസ�്സ്
        B:-Fixed assets
ഫി�ഡ് അസ�്സ്
        C:-Intangible assets
ഇൻടാൻജിബിൾ അസ�്സ്
        D:-Investments
നിേ�പ�ൾ
        Correct Answer:- Option-C
Question64:-Cash deposit made by business appears on the bank statement as __________ balance
ബിസിന�് നട�ിയ പണം നിേ�പം ബാ�് േ��്െമ�ിൽ ____________ ബാലൻസായി �ശ�മാ��.
        A:-Credit
�ഡി�്
        B:-Debit
െഡബി�്
        C:-Expenses
െചലവ്
        D:-Liability
ബാധ�ത
        Correct Answer:- Option-A
Question65:-Depreciation is ______________
ഡി�ീസിേയഷൻ എ�ാൽ
        A:-a credit to shareholders
ഓഹരി ഉടമകൾ�് ഒ� െ�ഡി�്
        B:-the increase in the value of an asset
ഒ� അസ�ിെൻറ �ല��ിെല വർ�ന
        C:-an appreciation to the company
ക�നി�് ഒ� അ�ീസിേയഷൻ
        D:-the decrease in the value of an asset
ഒ� അസ�ിെൻറ �ല��ിെല �റവ്

        Correct Answer:- Option-D
Question66:-Current ratio =
കറ�് േറേഷ�ാ =
        A:-Current assets / Current liabilities
കറ�് അസ�്സ് / കറ�് ലയബിലി�ീസ്
        B:-Quick assets / Current liabilities
ക�ി�് അസ�്സ് / കറ�് ലയബിലി�ീസ്
        C:-Debt / Equity
െഡ�് / ഇക�ി�ി
        D:-Current assets / Equity
കറ�് അസ�്സ് / ഇക�ി�ി
        Correct Answer:- Option-A
Question67:-Patents, Copyrights and Trademarks are
േപ��കൾ, പകർ�വകാശ�ൾ, വ�ാപാര ��കൾ എ�ിവയാണ്

        A:-Current assets
കറ�് അസ�്സ്
        B:-Fixed assets
ഫി�ഡ് അസ�്സ്
        C:-Intangible assets
ഇൻടാൻജിബിൾ അസ�്സ്
        D:-Investments
നിേ�പ�ൾ
        Correct Answer:- Option-C
Question68:-Lower the Debt Equity ratio
േലാവർ െഡ�് ഇക�ി�ി േറേഷ�ാ

        A:-Lower the protection to creditors
കട�ാർ�് സംര�ണം �റ�ക
        B:-Higher the protection to creditors
കട�ാർ�് സംര�ണം ��ക
        C:-It does not affect the creditors
കട�ാെര ബാധി��ി�
        D:-None of the above
േമൽ�റ�വെയാ�മ�
        Correct Answer:- Option-B
Question69:-A higher inventory ratio indicates :
ഉയർ� ഇൻെവ�റി അ�പാതം �ചി�ി��ത്
        A:-Better inventory management
മിക� ഇൻെവ�റി മാേനജ്െമ�്
        B:-Quicker turnover
ക�ി�് േടൺഓവർ
        C:-Both (1) and (2)
(1), (2) ഇവ ര�ം
        D:-None of the above
േമൽ�റ�വെയാ�മ�
        Correct Answer:- Option-C
Question70:-Manufacturing Account is calculated :
ഉൽ�ാദന അെ�ൗ�് കണ�ാ��ത്
        A:-The production costs paid in the year
വർഷ�ിൽ ന�ിയ ഉൽ�ാദന െചലവ്
        B:-The production cost of goods completed in the period
ഈകാലയളവിൽ �ർ�ിയാ�ിയ സാധന��െട ഉൽ�ാദനെ�ലവ്
        C:-The gross profit of the goods sold
വി� സാധന��െട െമാ� ലാഭം
        D:-The total cost of goods produced
ഉൽ�ാദി�ി�� വ���െട ആെക വില
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        Correct Answer:- Option-B
Question71:-The interest on capital accounts of partners under the fixed capital method is to be credited to _______________
�ിര�ലധന രീതി� കീഴി�� പ�ാളിക�െട �ലധന അെ�ൗ�ിെല പലിശയാണ് െ�ഡി�് െചേ��ത്.
        A:-Profit and loss account
ലാഭ ന� അെ�ൗ�്
        B:-Interest account
പലിശ അെ�ൗ�്
        C:-Partner's capital account
പാർ�്ന�െട �ലധന അെ�ൗ�്
        D:-Partner's current account
പാർ�്ന�െട  കറ�് അെ�ൗ�്
        Correct Answer:- Option-D
Question72:-The total of Purchase Journal is transferred to the :
പർേ�സ് േജണലിെൻറ ആെക �ക ഇതിേല�് മാ��
        A:-Debit side of the Purchase Account
പർേ�സ് അെ�ൗ�ിെൻറ െഡബി�് ൈസഡിേല�്
        B:-Debit side of the Purchase Day Book
പർേ�സ് േഡ ��ിെൻറ െഡബി�് ൈസഡിേല�്
        C:-Credit side of the Purchase Account
പർേ�സ് അെ�ൗ�ിെൻറ �ഡി�് ൈസഡിേല�്
        D:-Credit side of the Purchase Book
പർേ�സ് ��ിെൻറ �ഡി�് ൈസഡിേല�്
        Correct Answer:- Option-A
Question73:-Dead rent is also called :
െഡഡ് െറ�ിെന _________ എ�ം വിളി��.

        A:-Outstanding rent
ഔ�് �ാൻഡിംഗ് വാടക
        B:-Minimum rent
മിനിമം വാടക
        C:-Prepaid rent
�ീെപയ്ഡ് വാടക
        D:-Future rent
ഫ��ർ വാടക

        Correct Answer:- Option-B
Question74:-Operating activities are reported on the ____________ before financing activities.
�വർ�ന�ൾ�് ധനസഹായം ന��തി���് _________ൽ �വർ�ന �വർ�ന�ൾ റിേ�ാർ�് െച��.
        A:-Income Statement
വ�മാന േ��്െമ�്
        B:-Balance Sheet
ബാലൻസ് ഷീ�്
        C:-Statement of Equity
േ��്െമ�് ഓഫ് ഇക�ി�ി
        D:-Cash Flow Statement
ക�ാഷ് േ�ാ േ��്െമ�്
        Correct Answer:- Option-D
Question75:-The account that records expenses, gains and losses is
െചല�ക�ം ലാഭന���ം േരഖെ���� അെ�ൗ�്
        A:-Personal account
േപർസണൽ അെ�ൗ�്
        B:-Real account
റീയൽ അെ�ൗ�്
        C:-Nominal account
േനാമിനൽ അെ�ൗ�്
        D:-None of the above
േമൽ�റ�വെയാ�മ�
        Correct Answer:- Option-C
Question76:-Financial statement that lists only temporary accounts :
താൽ�ാലിക അെ�ൗ�കൾ മാ�ം ലി�് െച�� സാ��ിക േ��്െമ�്
        A:-Income Statement
വ�മാന േ��്െമ�്
        B:-Profit and Loss Statement
േ�ാഫി�് ആൻഡ് േലാസ് േ��്െമ�്
        C:-Balance Sheet
ബാലൻസ് ഷീ�്
        D:-Cash Flow Statement
ക�ാഷ് േ�ാ േ��്െമ�്
        Correct Answer:- Option-A
Question77:-When a petty cash book is kept, there will be :
ഒ� െപ�ി ക�ാഷ് ��് ��ി�േ�ാൾ, അതിൽ
        A:-No entries made at all in the general ledger for items paid by petty cash
െപ�ി ക�ാഷായി പണമട� ഇന�ൾ�ായി െപാ� ലഡ്ജറിൽ എൻ�ികെളാ�ം െച�ി�ി�
        B:-The same number of entries in the general ledger
െപാ� െലഡ്ജറിെല അേത എ�ം എൻ�ികൾ
        C:-Fewer entries made in the general ledger
െപാ� െലഡ്ജറിൽ �റ�് എൻ�ികൾ മാ�േമ നൽകിയി��
        D:-More entries made in the general ledger
ജനറൽ െലഡ്ജറിൽ ��തൽ എൻ�ികൾ െച�
        Correct Answer:- Option-C
Question78:-Current liabilities need to be paid :
നിലവിെല ബാധ�തകൾ അടേ����്
        A:-Within one accounting cycle
ഒ� അെ�ൗ�് ൈസ�ിളി��ിൽ
        B:-Beyond one accounting cycle
ഒ� അെ�ൗ�ിംഗ് ൈസ�ിളിന�റം
        C:-Within 3 years
�� വർഷ�ി��ിൽ
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        D:-Within 6 months
ആ� മാസ�ി��ിൽ
        Correct Answer:- Option-A
Question79:-The current liability includes
കറ�് ലയബിലി�ി ഉൾെ�ാ��ത്
        A:-Bills payable
അടേ�� ബി�കൾ
        B:-Outstanding expenses
ഔ�് �ാൻഡിംഗ് െചല�കൾ
        C:-Bank overdraft
ബാ�് ഓവർ �ാ�്
        D:-All of the above
േമൽ�റ�വെയ�ാം
        Correct Answer:- Option-D
Question80:-Which of the following should not be called Sales?
താെഴ�റ��വയിൽ ഏതിെന വിൽ�ന എ�് വിളി�ാൻ പാടി�
        A:-Goods sold for cash
സാധന�ൾ പണ�ിന് വി�
        B:-Office fixtures sold
ഓഫീസ് സാധന�ൾ വി�
        C:-Goods sold on credit
കട�ിൽ വിൽ�� സാധന�ൾ
        D:-None of the above
േമൽ�റ�വെയാ�മ�
        Correct Answer:- Option-B
Question81:-In which cases accounting estimates are needed?
ഏത് സാഹചര��ളിൽ അെ�ൗ�ിംഗ് എ�ിേമ�് ആവശ�മാണ്?
        A:-Employees benefit scheme
എംേ�ായീസ് െബനിഫി�് �ീം
        B:-Impairment of losses
ന���െട ൈവകല�ം
        C:-Inventory obsolescence
ഇൻെവൻഡറി കാലഹരണെപടൽ
        D:-All of the above
േമൽ�റ�വെയ�ാം
        Correct Answer:- Option-D
Question82:-An audit which is compulsory by the law ______________
നിയമ�കാരം നിർബ�ിതമായ ഒ� ആഡി�്      
        A:-Government audit
ഗവെ��് ആഡി�്
        B:-Internal audit
ഇൻേടണൽ ആഡി�്
        C:-Statutory audit
�ാച��റി ആഡി�്
        D:-Cost audit
േകാ�് ആഡി�്
        Correct Answer:- Option-C
Question83:-Place where extra financial information is attached to financial statements :
സാ��ിക ��ാവനകളിൽ അധിക സാ��ിക വിവര�ൾ അ�ാ�് െച�ിരി���ലം
        A:-Annexures
അ�ബ��ൾ
        B:-Footnotes
അടി�റി�കൾ
        C:-Statements
��ാവനകൾ
        D:-None of the above
േമൽ�റ�വെയാ�മ�
        Correct Answer:- Option-B
Question84:-Capital A/c is a _________ A/c
�ലധന അെ�ൗ�് __________ അെ�ൗ�് ആണ്.
        A:-Personal
വ��ിഗത
        B:-Real
റിയൽ
        C:-Nominal
േനാമിനൽ
        D:-None
ഒ�മ�
        Correct Answer:- Option-A
Question85:-____________ is the evidence that a transaction took place
___________ ഇടപാട് നട�തിെൻറ െതളിവാണ്.
        A:-Journal
േജണൽ
        B:-Source document
േസാ�് േഡാക�െമ�്
        C:-Ledger
െലഡ്ജർ
        D:-Cash Book
ക�ാഷ് ��്
        Correct Answer:- Option-B
Question86:-Asset accounts have what type of balance?
അസ�് അെ�ൗ�കൾ�് ഏത് തര�ി�� ബാലൻസ് ഉ�്?
        A:-Debit
െഡബി�്
        B:-Credit
െ�ഡി�്
        C:-Contra
േകാ�ാ
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        D:-All of the above
േമൽ�റ�വെയ�ാം
        Correct Answer:- Option-A
Question87:-The Statement that shows the cause of change in the financial position of an organization is known as :
ഒ� ഓർഗൈനേസഷെൻറ സാ��ിക�ിതിയിെല മാ��ിെൻറ കാരണം കാണി�� ��ാവന _____________ എ�് അറിയെ���
        A:-Balance sheet
ബാലൻസ് ഷീ�്
        B:-Statement of financial position
സാ��ിക നില�െട വിവരണം
        C:-Funds flow statement
ഫ�് േ�ാ േ��്െമ�്
        D:-None of these
ഇവെയാ�മ�
        Correct Answer:- Option-C
Question88:-A credit balance of Rs. 250/- on the cash columns of the book would mean :
ഒ� ��ക�ിെൻറ ക�ാഷ് േകാള�ളിൽ 250 �പ�െട െ�ഡി�് ബാലൻസ് അർ�മാ��ത്
        A:-The person has Rs. 250/- cash in hand
അയാ�െട ൈക�ിൽ 250 �പ��്
        B:-Somebody has stolen Rs. 250/-
ആേരാ 250 �പ േമാ�ി�
        C:-The person has spent Rs. 250/- more than he received
ലഭി�തി�ം 250 �പ അധികം ആൾ െചലവഴി�ി��്
        D:-The accountant has made a mistake
അെ�ൗ��ിന് െത�പ�ി
        Correct Answer:- Option-D
Question89:-The debit balance of Rs. 250/- in a cash account shows that :
ഒ� ക�ാഷ് അെ�ൗ�ിെല 250 �പ െഡബി�് ബാലൻസ് കാണി��ത്
        A:-There was Rs. 250/- cash in hand
ൈക�ിൽ 250 �പ ഉ�ായി��
        B:-Rs. 250/- was the total of cash paid out
250 �പയാണ് ആെക അട� പണം
        C:-Cash has been over spend by Rs. 250/-
പണം 250 �പയിലധിക�ം െചലവഴി�
        D:-Total cash received was less than Rs. 250/-
ആെക ലഭി�ത് 250 �പയിൽ താെഴ മാ�ം
        Correct Answer:- Option-A
Question90:-What is the minimum number of parties in a Consignment?
ഒ� കൺൈസൻെമ�ിെൻറ ഏ��ം �റ� ക�ിക�െട എ�ം എ�യാണ്?
        A:-1
1
        B:-2
2
        C:-3
3
        D:-5
5
        Correct Answer:- Option-B
Question91:-When Mr. A makes out a cheque for Rs. 2,500/- and send it to Mr. B, then Mr. A is known as
മി�ർ എ 2500 �പ�െട െച�് ഉ�ാ�ി മി�ർ ബി�് അയ�േ�ാൾ മി�ർ എ അറിയെ���ത്
        A:-The payee
േപയി
        B:-The banker
ബാ�ർ
        C:-The drawer
േ�ായർ
        D:-The creditor
�ഡി�ർ
        Correct Answer:- Option-C
Question92:-Which account increases equity?
ഏത് അെ�ൗ�ാണ് ഇക�ി�ി വർ�ി�ി��ത്?
        A:-Expenses
െചലവ്
        B:-Withdrawals
പിൻവലി�ൽ
        C:-Treasury Stock
�ഷറി േ�ാ�്
        D:-Revenues
വ�മാനം
        Correct Answer:- Option-D
Question93:-Operating profit is :
ഓ�േറ�ിംഗ് േ�ാഫി�് എ�ത്
        A:-Profit after deducting normal operating expenses including depreciation
�ല��കർ� ഉൾെ�െട�� സാധാരണ �വർ�ന െചല�കൾ �റ�തി� േശഷ�� ലാഭം
        B:-Profit after deducting taxes
നി�തി �റ�തി�േശഷ�� ലാഭം
        C:-Profit after deducting financial costs
സാ��ിക െചല�കൾ �റ�തി�േശഷ�� ലാഭം
        D:-Equal to net profit
അ�ാദായ�ിന് �ല�മാണ്
        Correct Answer:- Option-A
Question94:-Sales expenditure budget is prepared by estimating the expenses of
___________ െചല�കൾ കണ�ാ�ിയാണ് വിൽ�ന െചലവ് ബജ�് ത�ാറാ��ത്
        A:-Advertisement
പരസ�ം
        B:-Market analysis
മാർ��് അനാലിസിസ്
        C:-Salesman's salary
െസയിൽ�ാെൻറ ശ�ളം
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        D:-All of the above
േമൽ�റ�വെയ�ാം
        Correct Answer:- Option-D
Question95:-Auditing begins where ____________ ends.
________ അവസാനി��ിട�് ഓഡി�ിംഗ് �ട��
        A:-Selling
വിൽ�ന
        B:-Accounting
അെ�ൗ�ിംഗ്
        C:-Inventory valuation
ഇൻെവ�റി വാല�േവഷൻ
        D:-Purchases
പർേ�സസ്
        Correct Answer:- Option-B
Question96:-Accountancy work is done throughout the accounting period although auditing work is done :
ഓഡി�ിംഗ് േജാലി നട��െ��ി�ം അെ�ൗ�ിംഗ് കാലയളവി�ടനീളം അെ�ൗ�ൻസി േജാലികൾ േനാ��
        A:-from the second month of accounting period
അെ�ൗ�ിംഗ് കാലയളവിെൻറ ര�ാം മാസം
        B:-in the middle of accounting period
അെ�ൗ�ിംഗ് കാലയളവിെൻറ മ���ിൽ
        C:-after the end of accounting period
അെ�ൗ�ിംഗ് കാലയളവ് അവസാനി�തി�േശഷം
        D:-after the end of one month
ഒ� മാസം അവസാനി�േശഷം
        Correct Answer:- Option-C
Question97:-Liquid or Quick assets =
ലിക�ിഡ് അെ��ിൽ ക�ി�് അസ�് =
        A:-Current assets - (Stock + Work in progress)
കറ�് അസ�്സ് - (േ�ാ�് + വർ�് ഇൻ േ�ാ�സ്)
        B:-(Current assets + Stock + Work in progress)
(കറ�് അസ�്സ് + േ�ാ�് + വർ�് ഇൻ േ�ാ�സ്)
        C:-(Current assets + Stock) + Work in progress
(കറ�് അസ�്സ് + േ�ാ�്) + വർ�് ഇൻ േ�ാ�സ്
        D:-(Current assets + Work in progress) - Stock
(കറ�് അസ�്സ് +  വർ�് ഇൻ േ�ാ�സ്) - േ�ാ�്
        Correct Answer:- Option-A
Question98:-Which is the best description for a balance sheet?
ബാലൻസ് ഷീ�ി�� മിക� വിവരണം ഏതാണ്?
        A:-A statement of assets
ആ�ിക�െട േ��്െമ�്
        B:-A listing of balances
ബാലൻ�ക�െട ലി�്
        C:-A record of closing entries
േ�ാസിംഗ് എൻ�ി�െട െറേ�ാർഡ്
        D:-An account proving the book balance
��് ബാലൻസ് െതളിയി�� അെ�ൗ�്
        Correct Answer:- Option-B
Question99:-Unearned revenues are reported on the :
േനടാ� വ�മാനം താെഴ�റ��വയിൽ റിേ�ാർ� െച��
        A:-Income Statement
വ�മാന േ��്െമ�്
        B:-Profit and Loss Statement
ലാഭ ന� േ��്െമ�്
        C:-Balance Sheet
ബാലൻസ് ഷീ�്
        D:-Cash Flow Statement
ക�ാഷ് േ�ാ േ��്െമ�്
        Correct Answer:- Option-C
Question100:-Which account is not a liability account?
ബാധ�താ അെ�ൗ�് അ�ാ� അെ�ൗ�് ഏതാണ്?
        A:-Accounts payable
അെ�ൗ�് േപയബിൾ
        B:-Accrued expenses
സമാഹരി� െചല�കൾ
        C:-Notes payable
നൽേക� േനാ�കൾ
        D:-Cash
ക�ാഷ്
        Correct Answer:- Option-D
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